N = 0l & AF & F Al A

M HA1S
o

M =0ILXME JletdsH(HE1s)

SR FOXNXME 29 LHASHUHEIS) (Gt &)
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
s 107,478 103,834 3,644
FOIXXIAE Dlet2daH(H1S) 63,489 62,489 1,000
FOXXHEH 29 WA (HEIS) 63,489 62,489 1,000

SFOUHNEH X ¥ XA 8,039 7,039 1,000
201 LBt29H| 6,339 6,339 0

01 AtR2teldl 1,456 1,456 0
O SF0IHEH RFHIAAE 29|
88,000 12& 1,056
O g9 100, 000& *4JH 400
02 S=2494l 4,883 4,883 0
O ez 9503 *8Al 2+ *3CH *75 *90% 1,539
O SsF0HEH AIEKX 2,953&x359.47m *0.7 744
O dEEH 2elgA & 2SuA
200,000& *43| 800
O SHHE(AESE) 2,000,000 *1CH*90% 1,800
301 2EtEAZ 700 700 0
04 XA=s2t8Hid=294| 700 700 0
O 8| 100,000 *1JH CH 100
O 2tAlH] 50,000& x1JHCH=12& 600
401 AIEBIZ 20| 1,000 0 1,000
01 Al&HI 1,000 0 1,000
O ZOoHel EHOAlA 1,000,000& x 14! 1,000

s .UE gsHl A 53,950 53,950 0
301 LEtEAZ 53,950 53,950 0
05 S -2l -etEsasEMa3 53,950 53,950 0

O 8% 49,600
-Jl2x4g 2 A2 200,000& x16H *143] 44,800
- 394 20,000 x16H *153| 4,800
O BrH& A 25,0003 x87H x23| 4,350

FOUXNXRAAZ 29 1,500 1,500 0
301 2EtEAZ 1,500 1,500 0
12 JIEtE A2 1,500 1,500 0

O FUXNXKAJG LA
10,0003 *25H 63| 1,500
HESAAH(HH1S) 43,989 41,345 2,644
Jl2dul(tHo1s) 43,989 32,913 11,076

Jl2dal(tHe1s) 43,989 32,913 11,076
201 B3| 15,027 13,713 1,314
01 At22teldl 5,280 5,856 A576




M UHAIS

A HH2AAH(HA1S)

Sl JlEdul(uols) (cte &
SN (B) - MBEAY - B2 0f Ao ad s HRZ2
0] & o8
O Ht=ZH| 40,0003 x8Z = 12 x85% 3,264
O BAIIZA248 SAY)
7,000 *8H x3A! x12& 2,016
02 ss2494l 9,747 7,857 1,890
O dIlE 350,000& x12& 4,200
O REZ 330,000& x12& 3,960
O & - sz 100,000 x6& 600
O AsiEE2(AE832) 354,000& *x13] 354
O A=Al 29,000& 13/ 29
H3E HAHI 18,0502 +( 1,340 +8m") 29
O 23 FAH| 40,000& 13| 40
O BB EEE=2 210
- X 70,000& *23] 140
- sF0I4H 35,000 *23| 70
O TIIHHAAN =2 100,000& *13] 100
O CA-TV =& 18,700& x12& 225
202 (4l 19,200 19,200 0
01 2| 19,200 19,200 0
O A& =Uol 20,000& x8H x 10| *12& 19,200
203 PR =&l 8,762 0 8,762
01 |22 PR =4H| 5,940 0 5,940
OoOs & 6,600,000& *90% 5,940
02 HJAINSE 2= 272 0 272
O I RFRY| 40,0003 *8H *85% 272
04 EASIHRF=AH| 2,550 0 2,550
O BEASIERFEH| 250, 000& x12& *85% 2,550
405 XH&HFE SHI 1,000 0 1,000
01 ML =EF SHI 1,000 0 1,000
O diolM=Z ey 1,000, 000& = 1CH 1,000




M HHH2S

M FORX D8 23HHSH2S)
©el: FUXXNMH 22 HASH(HH2S) (ctel: &
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
thetes 99,901 98,289 1,612
FOXEX Dl8E 23 (HH2S) 58,559 57,127 1,432
FONXNAEH 28 WA (UH2S) 58,559 57,127 1,432
s FUHH |X ¥ X2l 8,279 6,847 1,432
201 B3| 6,579 6,147 432
01 AtE222lHl 1,456 1,456 0
O sFdE RABHIAAY 2SI
88,000& »12& 1,056
O 89 100, 000& *4H 400
02 2234l 5,123 4,691 432
O tgoz 1, 1002 «BAl 2t+20H 752 1,320
O s=0dgH AM&EsX 2,953 x485m x0.7 1,003
O dHEFH =cl ¥ FSHM  200,000& 44! 800
O s (A8s2) 2,000,000& = 1CH 2,000
301 EtEA = 700 700 0
04 tEHHUHIA2HHI 700 700 0
O 25l 100,000& 100 CH 100
O 2taly] 50,0003 x1JHCH=12& 600
401 Al&HI LS04I 1,000 0 1,000
01 Al&H| 1,000 0 1,000
O ZOHIEoAIE X 1,000,000& *14! 1,000
=,BHE 8=l 47,700 47,700 0
301 YptEaazg 47,700 47,700 0
06 &-cl-EEdEs2as 47,700 47,700 0
(O —F; 43,400
-JlEgx=g ¥ &40=  200,000&x14H143] 39,200
- 3o 20,000& 14 x153] 4,200
O =248 50,0003 *86% 4,300
oA 2Y 1,500 1,500 0
301 YptBazg 1,500 1,500 0
12 JIEtE 4= 1,500 1,500 0
O FTXALs HHE4
10,0003 25 63| 1,500
SEMESZE 2l 1,080 1,080 0
201 Let2g| 1,080 1,080 0
02 &=l 1,080 1,080 0
O 2E4BEZY 293 4
50,0003 »2CH =13 100
O ENMESZSH &IIAEZ2 60,0008 «12& 720




M HHH2S

M FORX D8 23HHSH2S)
thel: =OUXXAE 22 HWASH(UHH2S) (ctel: &
SN S(B) - NRAY - B2 O] &k o8 Bl =2
0l &
O RELMESBA & -ot=E= 10,0002 »62] 60
O RENMESZE Xot==Ald |4
200,000 * 14! 200
HY2AHH(HH2s) 41,342 41,162 180
Jl2dtl(tees) 41,342 32,730 8,612
Jl2dtl(tees) 41,342 32,730 8,612
201 LBt A 13,140 13,530 A 390
01 AtE222|Hl 5,280 5,856 ABT76
O BEA2g712> 40,0002 *8H 12 +85% 3,264
O BAII2HR48 SA|
7,000 «8H 341« 12& 2,016
02 2223H| 7,860 7,674 186
O H3atx HAaH| 445,000& * 13| 445
O =243 ~2=82L 50,000& * 12l 50
O s=UdH S3NERE= 38,000& »23] 76
O g sdNERES 55,000& *23] 110
O 2E= 200,000& x12& 2,400
O ™M=z 300,000& «12& 3,600
O & o=z 80,000& *62l 480
O A= XAl 30,000& *12] 30
O sz 450,000& *13] 450
O HIItEAMNE=Z 60,000& *13] 60
O RdLgsSAMERZ 6,600 x2CHx12& 159
202 O4dl 19,200 19,200 0
01 =LA bl 19,200 19,200 0
O A& =W 20,0003 x8H «103| x12& 19,200
203 HRF&H| 8,762 0 8,762
01 JI22IHRF8| 5,940 0 5,940
O s% 6,600,000 *90% 5,940
02 HRAINMHRF=EHI 272 0 272
O FAJERF&| 40,0003 *8H +85% 272
04 FN2ILRFAHI 2,550 0 2,550
O BEA2IHRF=AHI 250, 0003 * 123 x85% 2,550
405 KHAHE SH 240 0 240
01 MHARESFSH 240 0 240
O Xt 240,000 104 240




M HHHA3S

M FOUXXME JEHESHHAZS)
¢el: FUNXHNEHSY WHASHHAHAZS) (el &)
S CR(BH) - MRAY - BES Aro e Hlm= 2
179,419 179,269 150
B JIEr2 3 (T H3S) 119,463 118,863 600
HdEH2Y WA St 119,463 118,863 600
HdEH |X 2 X 15,563 14,963 600
201 LEt23d| 13,863 14,263 2400
01 AtE222lHl 1,456 1,856 A 400
O s=gdig ZHIAIAE 2|
88,000& x12& 1,056
O 89 100, 0002 40K 400
23224l 12,407 12,407 0
O s=2dH 2,956 x720.14m 0.7 1,491
O dEHHI>=C SSWX 200,000 *253] 5,000
O Sgsd8es =X 2=l
243,000 x12& 2,916
O sxg(rdsa2) 3,000,000 *1CH 3,000
AuBAZ 700 700 0
AELHUHRA2 S 700 700 0
O E3H| 100,000 = 1CHCH 100
O ZtAH| 50,0003 *1CHCH+12& 600
401 AlEHIZ 2 1,000 0 1,000
01 Al&t| 1,000 0 1,000
O SAH Zofel HolAlS 1,000,000& * 14! 1,000
s. & g=Hl KA 102,400 102,400 0
301 EtB A= 102,400 102,400 0
s-cl-tEe 102,400 102,400 0
O s 89,900
-Jl2=g ¥ 200,000 29H *143| 81,200
- 2og 20,0003 x29H «153| 8,700
O BHE84 25,0003 250 »23| 12,500
AUXHAs 23 1,500 1,500 0
dotE A=z 1,500 1,500 0
2 JIEt24 3 1,500 1,500 0
O FURXRAJ EAEH
10,000& 25 *6 3| 1,500
HY2HGHI(HA3S) 59,956 60,406 A450
Jl2ZH(tH3s) 59,956 51,838 8,118
Jl2ZHl(te3s) 59,956 51,838 8,118
201 LetEHH| 22,258 23,038 AT80
01 AFR22lH| 7,920 8,784 N B64




M A
HHM: HH2AAHI(HAH3S)
=

el Dl

A BB O(B) - NEAY - BAS Of o e Hl R =2
O B2XM2gII2 =28H|
40,0003 12«12 *85% 4,896
O BM2gII2 S|
7,000& *12H *3AIx 12 3,024
02 3224l 14,338 14,254 84
O 33 =H==2
16,7002 +(12,3002 x10m" ) 140
O 243 2= & A 60,000& x13] 60
O A 3D AEZ 46,000 x12& 552
O =&Y MEM L el A==
12,0002 x12& 144
O ®Milz 500,000& x12& 6,000
O g8z 500,000& «12& 6,000
O TSXItAl 30,000& *12l 30
O NsiHEE= 680,000& x13] 680
O &.5t=&= 60,0003 x63] 360
O BAMHASLYB (MY L ALE)
170,000& 12| 170
O &It A== 70,000& *13] 70
O CA-TV =2 11,0002 x12& 132
202 O4H| 28,800 28,800 0
01 =WHOYI 28,800 28,800 0
O Ha=UWobl 20,0003 12 103 x12& 28,800
203 HRF&H| 8,898 0 8,898
01 JI22IHSF=&H| 5,940 0 5,940
OJ|2#2Z YR =2l 6,600,000& *90% 5,940
02 FRAANMAMHSFAHI 408 0 408
O&E et 2= 2Ad| 40,0003 » 12 *85% 408
04 ENBILYRSFEH| 2,550 0 2,550
ORNMZEYRF=AI 250,000 » 12 *85% 2,550




SN oS
B FOITIRIME I8 5HHOI4S)
SRl EOINXMH 2Y HASHHH4S) (el &2

SNBSS - MEAY - BES

[
2

20
B
2

= 127,216 124,728 2,488
QITIXIMIE DB SHHH4AS) 80,194 77,994 2,200
FONXMEH 22 HasH(UH4s 80,194 77,994 2,200
SF0ME =X R X2t 9,294 6,794 2,500
201 et=gl 6,094 6,094 0
01 AtR2telH] 1,456 1,456 0
O SodE RUBHIAAY 2
88,000& 123 1,056
O &g+=% 100, 000& *40H 400
02 3323l 4,638 4,638 0
O S=0UdH ANERI 2,953& 554 .52m 1,638
O d&EEHl 2elRrX 200,000& »53 1,000
O sxeE(AEEE) 2,000,000& 2,000
301 et a=z 700 700 0
04 N=s2HUHI22H 700 700 0
O 83| 100,000& 120 CH 100
O 2tAld| 50,0002 x1JHCH+ 123 600
401 AIEHIZ R0 2,500 0 2,500
01 A&l 2,500 0 2,500
O Ol HoAlE &X 2,500,000& 14 2,500
s - g 234 69,400 69,400 0
301 et a= 69,400 69,400 0
05 S-cl-&EEs2d=s 69,400 69,400 0
(O)=F5; 62,000
JlEsg # d0s 200,000& 20H «143] 56,000
-2lo =g 20,0003 20 « 152 6,000
Ogt&E=E4 50,000& x148% 7,400
FQAXREE 2Y 1,500 1,800 A300
301 Let2a= 1,500 1,800 A300
12 JIEtE o= 1,500 1,800 A300
OF0UXXI?E2 slHA 24
10,000 x25F +62 1,500
HEY 2L ZH(HA4S) 47,022 46,734 288
|2Z2H(HH4S) 47,022 38,268 8,754
Jl23H(tHe4s) 47,022 38,268 8,754
201 LerE2El 16,626 16,668 N
01 AtR2teld] 5,940 6,588 648
O RBNAN2YJI==EH] 40,0003 «9H 12 «85% 3,672




SN O
=R

ok

SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
O BAIIZHR248 SAY|
7,0003 9H 341 %123 2,268
02 =234l 10,686 10,080 606
O SZMERE= 220
- XtE 60,000& *23l 120
- s0dH 50,000& *23] 100
O datx dEa 320
O HI|otE A At 60,000& *13] 60
O UsxM(LE832) 30,000& *12] 30
O 8= 300,000& «12& 3,600
O &=z 450,000& 128 5,400
O & - o2 80,000 «6& 480
O Nsx2eE2(4832) 400,000& * 13 400
O AOIETV =2 8,800& «12& 106
O s8334 2 &= 70,000& *12l 70
202 O4Hl 21,600 21,600 0
01 =W 21,600 21,600 0
O A& ZUHH 20,0002 x9H 102|122 21,600
203 R4l 8,796 0 8,796
01 JI22F L= 5,940 0 5,940
O s% 6,600, 000& *90% 5,940
02 HAIMNAHRFAHI 306 0 306
O ZE PR = 40,0002 *9H *85% 306
04 RA2ILRF=LH 2,550 0 2,550
O BEA2IHR=EHI 250,000& * 122 *85% 2,550




M HHA5S

M FOUXXME JEHASHHAGS)
chel: =UXNXAE 22 HWASHUHHLS) &
SN C(BH) - NRAY - HES Aro e 2
tHetbs 115,165 112,943 2,222
FOITXIME D2 UHH5E) 68,288 66,848 1,440
FUXNXHE 29 WASHHALS) 68,288 66,848 1,440
STOHEH S 2 XtE2el 8,488 7,048 1,440
201 LEt23d| 6,788 6,348 440
01 AbR22lH| 1,456 1,456 0
O sxUdH SelZHIAAE 23
88,000& x12& 1,056
O 8% 100, 0002 40K 400
02 5234l 5,332 4,892 440
O SF0HEH AMEsX 2,953 *644m" x0.7 1,332
O #dZ3&THI=2 £ £3AH  200,000& 102! 2,000
O sxg(Lrda=) 2,000,000 *14] 2,000
301 LEEAZ 700 700 0
04 NHELHUHR 2L 700 700 0
OR=1_1:1 100, 0002 *1JH CH 100
O ZtAH| 50,0003 1 CH+12& 600
401 A &HIL 2048 1,000 0 1,000
01 Al&H| 1,000 0 1,000
O HOCIEHAAIL HA 1,000, 0003 =14 1,000
SEHE &3l 58,300 58,300 0
301 LEtE A3 58,300 58,300 0
05 S-cl-tEEs24as 58,300 58,300 0
O 8% 52,700
-Jlgsg ¥ A3 200,000&*17H+143] 47,600
- 3o 20,0003 17 x153] 5,100
O BHEEH 50,000& *112Y 5,600
FUMXRAS 22 1,500 1,500 0
301 LEtB A= 1,500 1,500 0
12 JIEt2 43 1,500 1,500 0
O FUXXAs EFAEH
10,0003 25 63| 1,500
HHY2AIHH (HALS) 46,877 46,095 782
Jl2dul(tess) 46,877 37,629 9,248
Jl2Zdl(tess) 46,877 37,629 9,248
201 LEt23| 15,481 16,029 A548
01 AtE222lHl 5,940 6,588 A 648
O 2et=gH| 40,000% *9H 122 +85% 3,672




SN O
=R

ok

20
B
2

SEVPEEEEE DT
7,002 ¥9Z +341 x 128 2,268
02 T2l 9,541 9,441 100
O BINE=SS 200
- xter 60,0001 23| 120
- SFoIME 40,0002 23| 80
ORE-L-ESE-PN 16,7002+( 12,3002 +7m ) 103
OR-1"E P I-Ti-P 70,0002!*18] 70
O XS 29,0001 *13] 29
O MHEXLEE 600,000%! *13] 600
O VREwS 0188 13,2002 128 159
O ew= 250,0002 122 3,000
O ®JI2 400,000% <122 4,800
O & st4z82 80,0001 *63] 480
O HIIGHHAMLESE 10,0002 13| 100
202 01| 21,600 21,600 0
01 201l 21,600 21,600 0
O H@ ZLHOIY| 20,0002 +9% 103 * 122 21,600
203 R ETY| 8,79 0 8,79
01 JlB2YY =T 5,940 0 5,940
O s 6,600, 00021 0% 5,940
02 MM RETY| 306 0 306
O ZAIMLRETY| 40,0002 9 *85% 306
04 EN2YYRET| 2,550 0 2,550
O SASYARFRY 250,008 +122 +85% 2,550
405 RH&HF S 1,000 0 1,000
01 XarU2EH S| 1,000 0 1,000
O Z2tERIED) 1,000,000 *1CH 1,000




M HHo6s

M FOUXNXIME It (HHES)

Chell FUMXME SHUASH(S6S) (el &2
SN HH G (EH) - MBAY - BYS 01l &k o Soe s
s 122,615 104,209 18,406
FOITXIME D2 (UH6S) 79,597 62,597 17,000
FOIXNXNEH 2SUHASH(HHAS) 79,597 62,597 17,000

STOHEH S 2 XtE2el 23,747 6,747 17,000
201 B3| 6,047 6,047 0

01 AtE222lHl 1,456 1,456 0
O s=dle RUABHIANAY 2
88,000& »12& 1,056
O 89 100, 0002 40K 400
02 5234l 4,591 4,591 0
O tgoz 50,000& =83l 400
O s=x0HEH AMERK 3,362& x506 M *0.7 1,191
O HFHH 227X 200,000& »52] 1,000
O s (Ar8a=) 2,000,000& = 1CH 2,000
301 EtEA = 700 700 0
04 tEHHUHIA2HHI 700 700 0
O 25l 100, 0002 =10 CH 100
O ZtAH| 50,0003 x1JHCH=12& 600
405 AHoHESHI 17,000 0 17,000
01 XYL S SFSHI 17,000 0 17,000
O g22 siH(A832) 17,000,000 *1CH 17,000

SEHE 23| 54,350 54,350 0
301 YptEaazg 54,350 54,350 0
06 &-cl-EEdEs2as 54,350 54,350 0

(O =FS 49,600
Jlgs=g 2 H40s 200,000& *169E » 14 44,800
-39 =g 20,000& x 16 »153] 4,800
O ety 50,000& x95H 4,750

oA 2Y 1,500 1,500 0
301 LEtEAZ 1,500 1,500 0
12 JIEtE 4= 1,500 1,500 0

OF0RX 2 EHE4 10,0003 25 x63] 1,500
HY2IHHI(HABS) 43,018 33,180 9,838
JI23Hl(tHees) 43,018 33,180 9,838

Jl2Zul(tees) 43,018 33,180 9,838
201 Let2I| 14,056 13,980 76
01 AFR 22l 5,280 5,856 A576

O get=EZH| 40,000 *8H 122 x85% 3,264




SN O
=R

ok

20
B
2

O 2l 7,0002 *82 x341 x 128 2,016
02 22| 8,776 8,124 652
O HIIGHAASSZ 80,0002! %13 80
O gaMLRYS 200
-t 70,0002 *23 140
~EF=0IMH 30,0008 x23] 60
O Hstx Ha 80,0002! 13 80
O 293 &4 60,0002 13 60
O XEXHAl 30,0002 *13] 30
O NEHBHE 300,0002! 13| 300
O fmz 230,0002 * 128 2,760
O &z 400,000 122 4,800
O astaEa 60,0002 %63 360
O |ugsAEE 8,8002 <122 106
202 OiH| 19,200 19,200 0
01 2U40it] 19,200 19,200 0
O g 2o 20,0001 *8& *103] *1235] 19,200
203 HRFEY| 8,762 0 8,762
01 JZ2IAR=TY| 5,940 0 5,940
O sz 6,600, 000! *90% 5,940
02 MM RETY| 272 0 272
O BIMAREFY| 40,0002 +8 *85% 272
04 SASIARETY| 2,550 0 2,550
O SNSIAREFE 250,000 * 122 +85% 2,550
405 Ko S| 1,000 0 1,000
01 AL SZF Sy 1,000 0 1,000
O zmaly 1,000,000 *1CH 1,000




A
I‘IiH:
C}—Ol:
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88,000& 123
88,000& 123
100, 0003 *40H

200,000& »2CH ~6=2]
250,000 »2CH
170,000 2K

50,000& =2H
330,000 «128

2,953 +637m «0.7
1,017&+873m «0.7

200,000& »82

>
T
4

450,000 x42 |
2,500,000& * 14!
30,000& 123
200,000& * 14|

9,812
2,112
1,056
1,056
400
3,340
2,400
500
340
100
3,960
8,399
1,317
622
1,600

1,800
2,500
360
200

8,782

9,283

1,030

N884

e

700

700

100,000 *17H CH
50,000 10 CH+12&

700
100
600

700

141,350

141,350

141,350

141,350

200,000 40 *142]
20,000 x40 x152]
25,0003 #3473 #2323

141,350
124,000
112,000
12,000
17,350

141,350

1,500

1,500

1,500

1,500

1,500

1,500




A ES1S
Y FOUNXMEH Jt2LHES1S)
©el: FUXXNEH 22 HA(ES1S) AR
N EE - SI(3) - HEAY - BES sk e 2
O =T XAEs HHE4
10,0003 »25H «63] 1,500
HY2AHH(ES1S) 78,969 78,607 362
dHl(8318) 78,969 68,866 10,103
=2ZH(E318) 78,969 68,866 10,103
201 LBt 3| 32,799 35,266 A2,467
01 AtS 22/t 9,900 10,248 A 348
O 2N2YII=48
40,0003 » 15 122 +85% 6,120
O 2A2gII=A248 JAY|
7,000& x 15«34l %122 3,780
02 =234l 22,899 25,018 A2,119
O #gMNERE= 260
- Xk 50, 000& *23] 100
- SA 40,000& *23] 80
- oA 40,0003 *22l 80
O 283 453 A 60,0003 * 12| *2J4 A 120
O sz 354,000& *12] 354
O XS ZHAl 26,0003 =13 26
O sRE= 500,000& «12& 6,000
O & dt=&2 60,0003 204 2«6 720
O sAt Hdlg 400,000& 128 4,800
O s&as &) 850,000& «12& 10,200
O d3tx EA 139,000& 13| 139
O HIItHEH = 100, 000& *2JH 2 %13 200
O A0SV 0I8= 6,600 <128 80
202 O4Hl 36,000 33,600 2,400
01 =Wl 36,000 33,600 2,400
O A& =W 20,0003 15+ 102/ «12& 36,000
203 LRF&HI 10,170 0 10,170
01 JI22FHRF4| 7,110 0 7,110
o s% 7,900, 0002 *90% 7,110
02 FRJAINMAHRFAH| 510 0 510
O IRt R =8| 40,0003 »15H «85% 510
04 FN2IHRFAHI 2,550 0 2,550
O BN 250, 0003 * 123 x85% 2,550




SN 2528
A QXX Dl 23H(B525)
&l XX —‘i—% Hasi(8s28) (el =3
_ _ SIEN
SN EB -GS - MBAY - BES 0 & 24 il ot o {imE=Eh
2328 143,503 128,214 15,289
FOXX DlEt 23H(B528) 95,506 86,085 9,421
FOXNXNHEH 28 WA (E2328) 95,506 86,085 9,421
sFUHH |X ¥ Xtz 14,006 6,085 7,921
201 B3| 8,306 5,385 2,921
01 AtR 22/t 2,196 1,456 740
O sFdE RABHIAAY 2SI
88,000& »12& 1,056
O 89 100, 0002 *40H 400
O 2340 22l 20,0003 +7CH 140
O g3ds ED| 29 50,0003 «1CH*12& 600
02 =234l 6,110 3,929 2,181
O #¥&HIx2l £ 2SBuA 250,000& =62l 1,500
O s (Ar8s2) 2,000,000& 2,000
O s=UdH SXl2tel  3,8393#222.14m «0.7 597
O A= (LPG) 2003 *8Al 2+ 10182 132
O SESYLIANAE SR E2HI
209,000& x93 1,881
301 etEa = 700 700 0
04 TtELHUHIA2HHI 700 700 0
O 25l 100,000& 100 CH 100
O ZtAH| 50,0003 11 CH+12& 600
401 Al&HIZL=SOHYI 5,000 0 5,000
01 Al&H| 5,000 0 5,000
O SAH Zoiel HolAlM (3HEA)
5,000, 000& 14 5,000
s.8t& gsHl A& 80,000 80,000 0
301 Ypt8aag 80,000 80,000 0
05 -2l -EEs243 80,000 80,000 0
o s% 71,300
-Jlg=42 % 403 200,000 *23H x143| 64,400
- 2o 20,0003 23 x153] 6,900
O gr&E28 4 50,000& = 174F 8,700
FUNX R 2 1,500 0 1,500
301 et ag 1,500 0 1,500
12 JIEtEAS 1,500 0 1,500
O FURXRAJS &Y
10,0003 25 x63] 1,500
HY2IHH(E328) 47,997 42,129 5,868
ll=2dtl(8s2s) 47,997 33,697 14,300




2N 8528
B WE2AHY(8528)
tel: JI2ZH(8528) (el &)
SN EB -GS - MBAY - BES 0 & 24 e HRE2
ll2adl(8s2s) 47,997 33,697 14,300
201 LEH2HH| 15,951 14,497 1,454
01 AtE22|HI 5,940 5,856 84
O get=ZH| 40,000 x9H 12 x85% 3,672
O BAIIZLR48 SA|
7,0003 9H «3AIx12& 2,268
02 23223l 10,011 8,641 1,370
O d3tx HAH| 17,045&+(12,700& *1.0m") 30
O EIIAEHHA =2 70,0002 *12 70
O SFHE=2Ea(xz & AE:)
80, 000& *23] 160
O UsIAI(AEEE) 30,000& =13 30
O sz (L283a2) 650,000 =13 650
O sE= 350,000& *123] 4,200
O &Iz 350,000& 123 4,200
O RS AIER 20,900& * 123 251
O & -ot=&2 60, 000& 62| 360
O 283 45 2 Ea 60,0002 * 12 60
202 O4dl 21,600 19,200 2,400
01 WA 21,600 19,200 2,400
O A& SUHHH 20,0002 «10 9H 123 21,600
203 ¥R =&l 8,796 0 8,796
01 D122 HRF4] 5,940 0 5,940
(O =F=, 6,600,000 *90% 5,940
02 HIMMHR=EH 306 0 306
O ZJIH R =Y 40,000 *9H %85% 306
04 BEN2SHRFLH 2,550 0 2,550
O BA2EERFa| 250,000 * 122 *85% 2,550
405 KHoHFESH| 1,650 0 1,650
01 HARESF=H 1,650 0 1,650
O ¢z 7Y 450,000 *1CH 450
O Zet=Ze ol 1,200,000 »1CH 1,200




EAM: B335
Mz ZOIXXIME D8t AeH(E2S3S)

ool FUIRXME2Y WASHE53S) (sl &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
233 138,514 128,293 10,221
FOIXXIHEH D)8 23H(E2S3S) 90, 194 79,894 10,300
FOXXHEHSE WA (233S) 90, 194 79,894 10,300

SFOMNEH XA Y XteFatel 16,844 6,544 10,300
201 LBt29H| 6,144 5,844 300

01 AtR2teldl 1,456 1,456 0
O SF0IHEH RFHIAAE 29|
88,000 12& 1,056
O g9 100, 0002 *40H 400
02 S=2494l 4,688 4,388 300
O sSZF0HAEH AIZKX 3,362 *717m 0.7 1,688
O dEHHl =2l & S UA 200,000& *53] 1,000
O SHHE(AEEIE) 2,000,000& * 14 2,000
301 2BEtE A= 700 700 0
04 ME2EHUISF] 700 700 0
O 834l 100,000 *1JH CH 100
O 2tAld] 50,000& * 1o CHx12& 600
401 AEHI Y20 8,000 0 8,000
01 Al&H| 8,000 0 8,000
O SF0IHEH HOHUHEHIAIE HA XIS AL
8,000,000 =14 8,000
405 XHAFF SHI 2,000 0 2,000
01 XAt 2 EF SHI 2,000 0 2,000
O 4. e 2,000,000& *1CH 2,000

S, 8t& g3Y| 71,850 71,850 0
301 LEtEAZ 71,850 71,850 0
05 -2 -deEs8aa 71,850 71,850 0

O s% 65, 100
-Jlgsg 2 A3 200,000& x21H *143] 58,800
- 3ol 20,000 x21H x153] 6,300
O BH& A 50,000& «135H 6,750

FOUXNXRIE 2 1,500 1,500 0
301 LEtEAZ 1,500 1,500 0
12 JIEIE A2 1,500 1,500 0

O FUXNXHAAS 2L
10,000 *25H 63| 1,500
HESHAH (233S) 48,320 48,399 AT9
J2dH(833s) 48,320 39,933 8,387
J2dbl(833s) 48,320 39,933 8,387




FAM: 23S
T EH . BH K
S Tt S

|

ok HI(8338) (el =@
SN EB -GS - MBAY - BES 0 & 24 e HRE2
201 LetEdH| 17,924 18,333 A 409
01 AtE22/Hl 5,940 6,588 A 648
O get=EH| 40,0002 *9H 122 %85% 3,672
O 2HIIg2es SAY)
7,000& x9H «341« 122 2,268
02 23223l 11,984 11,745
O REgs AIER 9,000& 128 108
O datx dEa 60,0002 *12 60
O 283 45 & E& 60,000& *13] 60
O SZMERE= 430
- s3gdg 170,000& 23! 340
- S 45,0003 *23l 0
O UsIAI(AEEE) 30,000& =13 30
O IsiE8Ez(L832) 396,000 =13 396
O HIItEAMNE==Z 100,000& 13l 100
O 8= 300,000& «12& 3,600
O &=z 500,000& «12& 6,000
O & -ot=&2 200,000& =63 1,200
202 Oddl 21,600 21,600
01 WY 21,600 21,600
O A& ZUHHH 20,000 x9H 103|123 21,600
203 AREXY| 8,796 0
01 D22 HRF4l 5,940 0
(O =F~, 6,600, 000& *90% 5,940
02 HIMMPR=LH 306 0
O 3 RFA| 40,0003 «9H %85% 306
04 2EAN2SHRFLH 2,550 0
O BA2IER=8HI 250,000 122 *85% 2,550




SN 854S
By FOIRIIME |22 EHES4S)
el ZONAME 2Y LHASHSS4S) EERED
SN EB -GS - MBAY - BES 0 & 24 e HRE2
545 95,349 90,091 5,258
FOTAME I8 25HBE4S) 52,174 49,370 2,804
FURKHE 2 LAGHEE4S) 52,174 49,370 2,804
SFOMEIRT 2 X2 9,874 7,070 2,804
201 YBr2 ] 6.674 6.370 304
01 At 1,720 1,456 264
O SZOUEH SOPHIAAL S|
88,0002+ 128 1,056
O s4o 100, 0002 40 400
O H4I| A= 22,0002 +3CH *43] 264
2 232 Y| 4,954 4,914 40
O #zzY 22IsK 200,002 +53] 1,000
O SHP(2HEE) 2,000, 0002 14} 2,000
O SFUME ASRX 3,830 +541m 0.7 1,454
O Xot4+Ala 22IRX| 200, 0002174 & 200
O L e 2(LPG) 30,0002 *103] 300
01 Ysr Az 700 700 0
04 THE YRS 700 700 0
O =&t 100, 00024174 CH 100
O 24| 50,0002+ 12 CH« 122 600
401 AlEBIL2Thb| 2,500 0 2,500
01 Al 2,500 0 2,500
O FoHel BoAA 2,500, 0002 14} 2,500
S BF #sH X8 40,800 40,800 0
01 Yera3 40,800 40,800 0
05 S-2-BBSENZ 40,800 40,800 0
O == 37,200
- JlE4Y 2 HOIZ 200,0008 %122 *143] 33,600
- glolag 20,0002 *12% *153] 3,600
O prEEy 50,0002 +72% 3,600
FORAARE 2 1,500 1,500 0
01 YereaI 1,500 1,500 0
12 JIER a2 1,500 1,500 0
O FOURXANE 510 HHB
10, 000! x25% x63] 1,500
IS ABY(B54S) 43,175 40,721 2,454
|=AbI(8348) 43,175 32,289 10,886
2B H(2545) 43,175 32,289 0,886
201 YBr2 ] 12,813 13,089 ~276




FA: B34S
T EH . BH K
S Tt S

|

£ Hl (254S) CERE!
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
01 At22teldl 5,280 5,856 A576
O etx=2H| 40,0003 x8H x 12 *85% 3,264
O EMJI2gRa8 A
7,000 *8H x34!x 12 2,016
02 s32g9H| 7,533 7,233 300
O dstx HAd| 85,000 2 A~ x13] 170
O HIIHHAAI =22 100,000 *13] 100
O s3I Z2 140
- S30IHH 25,000& 23] 50
- S 45,000& 23] 90
O NsXHA(AEEE) 27,0703 *13] 28
O NEXEE2(AEHSEI2) 494,150 *13] 495
O RE= 200,000& x123] 2,400
O &Iz 300,000& x12& 3,600
O & - stz 100,000& *63] 600
202 04 21,600 19,200 2,400
01 2| 21,600 19,200 2,400
O A& =0l 20,000& x10 x9H x 122 21,600
203 PR =&l 8,762 0 8,762
01 J| 2SI PR =4H| 5,940 0 5,940
o s& 6,600,000& *90% 5,940
02 HJAINSERE=RH| 272 0 272
O HJINERFRY| 40,0003 *8H *85% 272
04 EASIHRF=AH| 2,550 0 2,550
O BEASIERFE| 250, 000& x 12& *85% 2,550




PA: 22
M =0IKX J|et AsHEES)
Sel: FOXXANE 2IUHASHRYS) (&)
_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH Omnou BlusSZ
24=s 101,265 98,411 2,854
FOIXR DI8t AsHBRYE) 59,536 57,436 2,100
FOXNXINEYH 2L E2ESE) 59,536 57,436 2,100
S FONEH KX L Iz 13,236 10,936 2,300
201 LEr2HH| 10,236 10,236 0
01 At22t2IH] 1,456 1,456 0
O SZ0IHE POUAHIAAE 2|
88,0002 «12& 1,056
O 849 100, 000! *40H 400
02 222ZH| 8,780 8,780 0
O uegz2 6262 xBA| 220 x 75 752
O SZQIHEH AEKK  3,362R0%368.44m «0.7 868
O #EEH 222K L 2ZDH
200,000 %43| 800
O sxz(Agae) 3,000,000 * 14! 3,000
O Xat$Ald 22K 1,200,0002 * 14l 1,200
O Nat$Ald QB 180,000 » 122 2,160
301 et A= 700 700 0
04 MegHiA=29| 700 700 0
O 24| 100, 000 * 1 JH CH 100
O 2tAlH| 50,0002« 1JHCH* 12 600
401 Al&H LS 2,300 0 2,300
01 Al&H] 2,300 0 2,300
O e HOAAE &X 2,300,000 * 1Al 2,300
£ BHE E=H| 44,800 45,000 A 200
301 Lt Az 44,800 45,000 A 200
05 S-2 -2 A2 44,800 45,000 A 200
OR=F; 40,300
- Jl24e 2 AWZ 200,000 «13H*143] 36,400
- 3o 20,0002 *13H «153] 3,900
O BHEE A 50,0002 *90H 4,500
FOXXSKE 2 1,500 1,500 0
301 LB A2 1,500 1,500 0
12 JIEIB A= 1,500 1,500 0
O FOURXANZ A
10,0002 x25H x6 3 1,500
HH2AAH (2YS) 41,729 40,975 754
ll23tl(sgs) 41,729 32,543 9,186
=3t (sgs) 41,729 32,543 9,186




SN 89S

Hu: #H2YAY (8YS)

Sl J2AH(8YS) (e @8
o o (5 o o e =
SA-BH.C(BH) - HRAY - B Ofl &t o il i~ o Rz

201 Yereg| 12,767 13,343 576
01 AtR2elt| 5,280 5,856 A5T76
O BA2gII=UsLgY|
40,000 *8% * 122 x85% 3,264
O BAIIZgR48 ZAY
7,00021+8 *34] #122 2,016
02 ZZ2Y| 7,487 7,487 0
O HIAMRD 442 70,0002 %13 70
O Fax B4 16,7002 +(12,3002 *2m ) 42
O 293 Hay| 50,0002 %13 50
O BAMHRED 213
- e 58,5902 %23 118
- SFOME 47,2308 %23 %5
O KHSIHAI 28,5001 *13] 29
O NEAN2E2 43700024 %13] 437
O e®E 2000002 *122 2,400
O ®lz 300,000 *122 3,600
O & B+52 90,0002 %63 540
O Regs AR 8,8002 128 106
202 01t 19,200 19,200 0
01 =Ujoit] 19,200 19,200 0
O =& 20l 20,0002 +8% *103| * 122 19,200
203 Y= 8,762 0 8,762
01 JBSYARETY| 5,940 0 5,940
O =& 6,600, 000! *90% 5,940
02 HRATNMAREAY] 272 0 272
O FANIMHR=TY| 40,0002 *8% *85% 272
04 BNSYRRETY] 2,550 0 2,550
O BNSYASETY|  250,0002 122 +85% 2,550
405 XtarF S| 1,000 0 1,000
01 XHAYLSEF S| 1,000 0 1,000
O oK e 1,000,008 * 1CH 1,000




M A0S
A FOXXIAE D BH2SH
o2l FUXXNEH 2F WA (9 E2
N BT (3H) - MEAIY - B2 A} OH &EIE Ho=2t
o= T ° . [= Bl e =5 O:H{ﬂ,% Lsa
Eagely 171,078 145,507 25,571
FOIXXIHE D] BH2E G2 BF 117,722 94,767 22,955
AXEEH 2 LHASH 117,722 94,767 22,955
sxUdEH |X 2 X 30,022 7,007 23,015
201 LEt23d| 6,322 6,307 15
01 AbR22lH| 1,581 1,856 AN275
O SZOME 2 B 2oyl
88,000& x12& 1,056
O 8% 100, 0002 40K 400
O 23| 2el 25,0002 *5I4 125
02 ZE=2ZHl 4,741 4,451 290
O s=x0HEH AMERK 2,953& x455m %0, 7 941
O #HEFHl =cl ¥ £ WM 250,000& *43] 1,000
O oz 2elsX 100, 0002 *3CH 300
O s (L28s2) 2,500, 000& 14 2,500
301 et24a = 700 700 0
04 NELHa2Z 700 700 0
ORE=3_-1:1 100,000 *1JH CH 100
O 2+-ald| 50,000 *1IHCH =120 & 600
401 A &HIL 2048 6,000 0 6,000
01 Al&H| 6,000 0 6,000
O sAt B3 4,000,000 =14 4,000
O ZOHQ AL I 2,000, 0002 =14 2,000
405 KHAHFSHI 17,000 0 17,000
01 MY 2EFHSH 17,000 0 17,000
O sxg(Lrdsa2) 17,000, 0002 = 1CH 17,000
Bt B Sl 86,200 86,200 0
301 LetE A= 86,200 86,200 0
05 &-cl-etEass 86,200 86,200 0
O 8% 77,500
-Jlz=g ¥ 200,000 25 *143| 70,000
- 3o =g 20,0003 x25H «153| 7,500
O BHEE4 50,000& *174Y 8,700
QXX ?IAE 29 1,500 1,560 AB0
301 et2 4= 1,500 1,560 AB0
12 JIEtE 43 1,500 1,560 A60
O FUXAAE
10,0003 25 x63] 1,500
HY2IGH|(ZeHS) 53,356 50,740 2,616




SN 2BHE

B HF2 AR (LHS)

Sl J12 Y| (2eHS) (el &2
- 2 . crol (5 ” - HEAC -
SH-EH . C(BH) - NRAY - BES Off &F oA il b o bRz

Il (ZeHS) 53,356 42,240 11,116
Jl= U (ZeHS) 53,356 42,240 11,116
201 L2y 18,002 18,240 A148
01 ALR eIt 7,008 7,320 A312
O EN2YII=4+8H|
40,00021 #1123 122 85% 4,488
O BMJIZZR4+8 SAH)
7,0002 % 10% +341 + 122 2,520
2 T2 11,084 10,920 164
O ®IIHEAALLE 10,0002 %13 100
O HEZE Hayl 30,0002 *14] 130
O 293 45 ¥4 10,0002 %13 100
O BAWHRLS 260
- Sxty 70,0004 %23] 140
- SOl 60,0001 %23l 120
O RESIHAI 30,0004 *13] 30
O NEX BER 258,30021 %13 259
O HOIZTV 0188 U IEHY AIBR 485
- JoIETV 0188 13,2002 * 122 159
- OIHY ABE 27,1002 %128 326
O 2w23 300, 00021 * 122 3,600
O ®JIz 400,00021 %122 4,800
O & ot+523 220, 0002 *63| 1,320
202 01t 26,400 24,000 2,400
01 2Uoid] 26,400 24,000 2,400
O =@ 2UH0IHl 20,0002 %112 +105]« 122 26,400
203 PR =Y 8,864 0 8,864
01 Jl2SYAREY| 5,940 0 5,940
O =% 6,600, 00024 *90% 5,940
02 BRAIIMARETY] 374 0 374
O BRAMNLRETY| 40,0002 *1124 *85% 374
M EASYLRETY 2,550 0 2,550
O SNSYADRETY  250,0002* 122 +85% 2,550
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S 2ADRS
X XH -
o Tt

el

Ha . o9l(3H) - MR - BAS Abod e HlDE2
O FURXIFAE HH2L
10,000 25 *6 3| 1,500
o HI(Ze2s) 47,229 45,654 1,575
(Zor2s) 47,229 37,222 10,007
gl (22t2s) 47,229 37,222 10,007
Bt oyl 18,267 18,022 245
01 AtR22lH| 5,280 5,856 A576
O 2et=gZH| 40,0003 *8H » 123 x85% 3,264
O BEMII2gR2s8 =4l
7,000 x8H x3AIx 12 2,016
23224l 12,987 12,166 821
O #3Heed3 540
- S 60,000& *23| 120
- SF0dH 210,000& »23] 420
O &gt 4 100, 000& 100
O =243 F& 60,000& x13] 60
O NSXItAl 30,000& =13l 30
O XNsit B2 600, 000& *13] 600
O REZ 200,000& = 12& 2,400
O ®ilg 470,0003 x12& 5,640
O & -dt=&& 570,000 x6& 3,420
O AOIETV M= 11,0002 x12& 132
O HI|otd A A 65,000 *13] 65
(1] 19,200 19,200 0
=LA bl 19,200 19,200 0
O HA SWHHHI 20,0003 x8H » 102« 12& 19,200
el u] 8,762 0 8,762
ISR =AY| 5,940 0 5,940
O s 6,600, 0002 *90% 5,940
AL R =X 272 0 272
O FEItatg 2 F=&| 40,0003 x8H x85% 272
FA2IYRF=AH| 2,550 0 2,550
O BEM2ZYRFEI 250,000 * 122 *85% 2,550
A& S| 1,000 0 1,000
&L =SS FSHI 1,000 0 1,000
O diold Zgly 72 1,000,000 +1CH 1,000
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